LIST OF INACTIVE ITEMS FOR ICF:SHELL AS ON 01.08.2024

Sr PL No. Description Unit Stock AAC Stock Value LI/LR-DT | WD /DP

1 30110518 |BODY BOLSTER TRAIN 18 Nos. 96 13681328 14-Jun-23 08-Oct

2 33600260 |ADJUSTING SHIM FOR BODY Nos. 50221 7274451 27-Jul-23 08-Oct
SUPPORT

3 90818611 |UNF S.S PLATE 6 X 1250 X 2600 MM Kgs. 22559.74 3997112 19-Apr-23 11-Oct

4 31020598 |BOLT COMPL FOR AXLE BOX- Set 9689 3039759 02-Mar-23 12-Oct
EMU/M/3P.

5 31908172 |S & I SS NOSE CONE MRVC PHASE-II Set 2 1864400 12-May-23 | 08-Oct

6 33519950 |LACCN ROOF ASSEMBLY Set 3 275 1715427 14-Mar-23 | 08-Oct

7 90831378 |PEEL SPRING S ROU 47.4 X 4552 Nos. 210 1209180 13-Jul-23 05-Oct

8 84137757 |UNF PACKING BOXES OF Nos. 4630 759320 13-Apr-23 01-Oct
9PLY350X350X430

9 30126691 |HEAD STOCK ARRGT.FOR CBC Nos. 9 638780 05-May-23 | 08-Oct
COUPLER

10 80012693 |OIL HYDRAULIC/1000T PRESS IS 309 LTR 7350 543575 06-Jan-23 04-Oct

11 33500034 |TRACTION CENTRE ELASTIC JOINT Nos. 259 543510 23-Nov-22 05-Oct

12 33503795 |RUBBER PAD FOR LONGI BUMP STOP|  Nos. 1604 511035 28-Sep-22 | 05-Oct

13 72901548 |ELECTRODE ROLLERS ICF/MW/2609 Nos. 30 397500 18-Nov-22 | 01-Oct

14 72011075 |SHEAR BLADE INV.NO.1389 Set 2 387984 26-Sep-22 | 01-Oct

15 31901566 |WIRE ROPE ASSY.ICF/SK-2-90179C1 Nos. 1382 359876 06-Feb-23 08-Oct

16 90336343 |STEEL ROUNDS 140MM DIA Kgs. 5175.642 358757 23-Nov-22 | 05-Oct

17 76010454 |UNF ELECTRODE 2.5MM X 350MM Nos. 104138 334156 16-Feb-23 12-Oct
RUTILETY.

18 90356342 |FLAT SIZE 65X12 Kgs. 8366.668 329881 30-Sep-22 05-Oct

19 90336227 |MS RDS40MMDIAIS- Kgs. 4857.017 329731 20-Jul-23 05-Oct
2062/84FE410WA

20 72210539 |UNF CARBIDE INSERT SNMG 190616-|  Nos. 1079 318925 03-May-23 | 01-Oct
5TK

21 31111415 [STEEL TUBE DIA 28(0D) X 257 MM Nos. 3307 261253 02-Feb-23 08-Oct

22 90331011 |MS ROUNDS 180 MM DIA Kgs. 4587.545 250021 07-Apr-23 05-Oct

23 30111020 |FRONT & BACK STOPPER FOR CBC Set 61 238470 26-Nov-22 | 06-Oct
H/S

24 33672234 |OLD PIN FOR EQUALISING STAY Set 186 168502 30-Sep-22 | 08-Oct
ICF/SK

25 73560200 |SCREWS MS BL HEX HD M6X20 G IS Kgs. 1997.777 7849 166125 27-May-23 02-Oct
1

26 73100316 |UNF HEX NUT M20-4 GALVD IS 1363-|  Kgs. 2143.652 150913 19-Dec-22 | 02-Oct
92

27 90331163 |UNF STEEL ROUNDS 40MM DIA Kgs. 3489.114 148827 02-Sep-22 05-Oct
1S:5517-93

28 76904854 |UNF GAS CUTT TORCH WITH OUT Nos. 48 146836 05-May-23 | 01-Oct
NOZ IMC-

29 83048820 |CONTINUOUS STATRY 3-PLY-15X12 Set 64499 132866 13-Jun-23 01-Oct

30 31060122 |HEX HD BOLT FOR CENTRE PIVOT Nos. 1204 131686 22-May-23 | 12-Oct
ARR

31 33500046 |LATERAL BUMP STOP Nos. 95 123310 07-Feb-23 05-Oct

32 80010106 |OIL SPINDLE IS 493/58 EXTRA LIGH LTR 629.5 122753 31-Jul-23 04-Oct

33 90336460 |MS ROUNDS 100MM 1S:1875-71C2 Kgs. 1942.228 116717 13-Oct-22 05-Oct

34 84137782 |UNF PACKING BOXES OF 9 PLY WITH|  Nos. 780 115440 13-Apr-23 01-Oct
GUNN

35 72901809 |SHIELD CUP PLASMA/CUT:9-8218 Nos. 100 82247 19-Apr-23 01-Oct

36 90336148 |MS.RDS16MMDIAIS.2062-84 Kgs. 653.329 49007 19-Apr-23 05-Oct
FE410WA

37 | 73853914 |CSK HD SCREW WITH HEX SOC Nos. 2459 1600 47754 04-May-23 | 02-Oct

M8X50




38 | 90341004 |MS SQUARES 40X40MMISS2062 62 Kgs. 770.249 42056 27-Feb-23 | 05-Oct
42w

39 | 30146069 |BODY PILLAR BACK PIECE Nos. 10009 37846 15-Nov-22 | 06-Oct

40 | 72157884 |CUTTER SIDE FACE STAGTET Nos. 2 37573 11-Nov-22 | 01-Oct
A200X72

41 | 31027120 |SIDE BEARER HOUSING Nos. 141 36005 13-Jun-23 | 06-Oct

42 | 72047100 |INDEX INSERT SPKN 12 03 EDRP30| Nos. 300 33900 11-Nov-22 | 01-Oct

43 | 76019731 |ELECTRODE- DIA 2.5MMX350MM, LH| Nos. 10878 32413 28-Jul-23 | 12-Oct
TYPE

44 | 72900180 |UNF CARTRIDGE PTFNR 12 CA 16 Nos. 11 32104 11-Nov-22 | 01-Oct

45 | 30510612 |DOOR LOCK COMPLETE T-51 109/C- | Nos. 125 28750 25-Aug22 | 12-Oct
v

46 | 73560595 |UNF HEX HD SCREW BL M8X25- 4.6 | Kgs. 399.317 27142 16-Nov-22 | 02-Oct
GALVD

47 | 72901690 |GAS DIFFUSER-W004505 Nos. 244 25108 28-Nov-22 | 01-Oct

48 | 81031257 |WHITE CHALK Kgs. 500 25000 26-Aug22 | 04-Oct

49 | 72350076 |FILES FLAT BASTARD 400 MM 15-193| Nos. 51 24228 10-ul-23 | 01-Oct

50 | 76217425 |NOZZLE/TIP CUTOGEN CUTTER A12 | Nos. 264 21292 10-Nov-22 | 01-Oct
I0

51 | 76018891 |ELECTRODE- DIA 2.5MMX350MM, Nos. 13673 18428 01-Feb-23 | 12-Oct
RUTILE TYPE

52 | 72209070 |DRILL TWIST HSS MT 40.0 MMIS 51| Nos. 3 15234 11-Nov-22 | 01-Oct

53 | 72209100 |DRILL TWIST HSS MT 41.50MM IS 51| Nos. 4 14989 11-Nov-22 | 01-Oct

54 | 72040658 |UNF MACHINE TAP M16 X 1.5 Nos. 14 13480 17-Jun-23 | 01-Oct

55 | 83048601 |SINGLE PLY 38.50X31CM Nos. 25000 12500 12-Jan-23 | 01-Oct

56 | 72208077 |DRILL TWIST HSS MT 11.0MMIS51| Nos. 30 11930 16-Jun-23 | 01-Oct

57 | 73512084 |HEX HEAD SCREW M8 X 35 8.8 Nos. 6425 11372 14-Dec22 | 02-Oct

58 | 90338297 |BR.ST.ROUNDS 16MM DIA IS:9550- | Kgs. 202.365 9997 10-Oct-22 | 05-Oct
01

59 | 72095003 |HSS LONG M/CTAP CP TY B Nos. 10 9981 08-Feb-23 | 01-Oct
M20X2.50

60 | 72203328 |DRILLS TWIST HSS PARALLELSHANK |  Nos. 59 90 9817 27-Feb-23 | 01-Oct
s

61 | 72351380 |FILES ROUND BASTARD 350 MM Nos. 24 9742 08-Feb-23 | 01-Oct
IS.19

62 | 73818150 |UNF HEX HD BOLT M12X110 - 8.8 Nos. 755 8951 24-Feb-23 | 02-Oct

63 | 67025079 |CLUTCH DISC PNO 0669667-00 Nos. 4 7175 03-Apr-23 | 51/10

64 | 73563420 |UNF HEX HEAD SCREW M10X40 - 8.8 Nos. 1357 6691 13-Dec22 | 02-Oct
10

65 | 72208673 |DRILL TWIST HSS MT 26.0 MM IS 51| Nos. 4 6604 21-Nov-22 | 01-Oct

66 | 72350120 |FILES FLAT SECOND CUT 250 MM IS-|  Nos. 56 6566 08-Feb-23 | 01-Oct

67 | 73110577 |UNF PREVAILING TORGUE HEXAGON|  Nos. 3662 6306 02-Sep-22 | 02-Oct
NUT TO

68 | 83057766 |UNF MATERIAL ACCOUNT NOTE Nos. 55 6151 13-Jun-23 | 01-Oct
BOOKS

69 | 72210564 |CARBIDE INSERT DNMG 150608 Nos. 32 6043 14-Feb-23 | 01-Oct

70 | 72208478 |DRILL TWIST HSS MT 21.0 MM IS 51| Nos. 6 5593 10-ul-23 | 01-Oct

71 | 73561137 |UNF SCREW MS BL HEX HD M12X20 | Kgs. 874.714 5522 09-Jan-23 | 02-Oct
GIS1

72 | 72070791 |UNF SHIM FOR CNMG 190612 Nos. 27 4460 10-ul-23 | 01-Oct

73 | 72351196 |FILES HALFRD SECOND CUT 250 MM | Nos. 9 2974 24-Apr-23 | 01-Oct
I

74 | 72208030 |DRILL TWIST HSS MT 10.0 MMIS 51| Nos. 9 2772 03-May-23 | 01-Oct

75 | 72208510 |DRILL TWIST HSS MT 22.0 MM IS 51| Nos. 3 2650 10-ul-23 | 01-Oct

76 | 67754053 |TUBE 9.00X20 FOR LEYLAND Nos. 1 10 1357 16-Nov-22 | 51/10
LORRIES

77 | 73540304 |SLOT RAISED CSK HEAD SCREW Kgs. 9.468 969 27-May-23 | 02-Oct
M5X16

78 | 47333182 |RELAY B METAL FOR 415V3 PH Nos. 1 772 25-Aug22 | 51/10
50C/S

79 | 31057627 |H SPRING SPART DPC BOLSTER Nos. 176 176 30-Sep-22 | 01-Oct
DETC G87

TOTAL 4,16,70,033




